Algebra 2







Name: _______________________

Unit 10, Day 5







Date: _____________ Period: ____

Conditional Probability
Example #1:  Imagine flipping a coin 3 times. How many possible outcomes are there?   

____ ( ____ ( ____ = ____    Write out all the possible outcomes.  


	P (1 H) =


	P (2 H) = 
	P (3 H) = 
	P (0 H) = 

	P (at most 1 H) = 


	P (at least 1 H) = 
	P (4 H) = 
	P (at most 3 H) = 


Recall:
	CONDITIONAL PROBABILITY

P(A | B) means _______________________________________________________________________

The number of ways B occurs is the new ______________________ of the probability.




Practice #1:  

	a)  P (3 H | all same) =


	b)  P (3 H | at least 1 H) =



	c)  P (2 H | at least 1 H) =


	d)  P (2 H | not all tails) =


Example #2:  Imagine flipping a coin 4 times. How many possible outcomes are there?  

____ ( ____ ( ____ ( ____ = ____      


	P (all heads) =

	P (all tails) =
	P (all H | at least 1 H) =




Example #3:  Consider the sum of two dice.  Determine the following probabilities.  


P (odd sum) =
P (multiples of 3 sum) =
P (multiples of 3 | odd) = 
Because we have an area model, this probability is easy to visualize. 

There is a rule for conditional probability.


Let A = multiples of 3 and B = odd sums.

P (A | B) = ___________________ = ________

Practice #2:  Suppose a coin is tossed 4 times.   You should refer to the sample space you created on the front side of this worksheet.  Determine the following probabilities:
	a)  P (all tails) = 

	d)  P (2 tails | at least 1 tail) = 

	b)  P (at least 1 tail) = 

	e)  P (1 head | at least 1 tail) = 

	c)  P (all tails | at least 1 tail) = 

	f)  P (3 tails | at least 1 tail) = 


Practice #3:  Consider a deck of 52 playing cards.  Determine the following probabilities.  Recall that there are:

	· 4 suits (♠, ♣, ♥, ♦)
	· ♥ and ♦ are red, ♠ and ♣ are black

	· 13 cards in each suit (2, 3, 4, 5, 6, 7, 8, 9, 10, J, Q K, A)
	· four of each type of card (e.g., four 2’s, four 3’s)


	a)  P (♦ | red) =


	b)  P (J | face card) =

	c)  P (J♥ | J) =


	d)  P (4 | not face card) =




Conditional Probability Practice

1.  Fill in the “sum of two dice” chart.  Then determine the probabilities below.



a)  P (sum is even) =

P (sum is 2) =

P (sum is 2 | sum is even) = 

b)  P (sum > 7) =

P (same # rolled) =

P (same # rolled | sum > 7) = 

c)  P (sum is 9) =

P (at least one die is a 4) =

P (sum is 9 | at least one die is a 4) = 

2.  Consider a deck of 52 playing cards.  Determine the following probabilities.  Recall that there are:

	· 4 suits (♠, ♣, ♥, ♦)


	· ♥ and ♦ are red, ♠ and ♣ are black

	· 13 cards in each suit (2, 3, 4, 5, 6, 7, 8, 9, 10, J, Q K, A)
	· four of each type of card (e.g., four 2’s, four 3’s)


	P (red) = 


	P (six of clubs | red) = 

	P (heart | red) = 


	P (spades) = 



	P (ace | red) = 


	P (queen | spades) = 



	P (face card | red) = 


	P (A or 2 | spades) = 



	P (jack or 10 | red) = 


	P (face card | spades) = 

	P (spades | red) = 


	P (not a face card | spades) = 

	P (six of hearts | red) = 

	P (3 of hearts | spades) = 


Conics Sections Review
I.  Without writing the equation in standard form, state whether the graph of each equation is a parabola, circle, ellipse, or hyperbola.  Briefly explain why you picked your choice.

	Equation
	Type of Conic
	How do you know?
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II.  Write each equation in standard form, then graph the equation on the set of axes.  
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P (A | B) = 
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